B.A/ B.Sc. 1** Semester (Honours) Examination, 2020 (CBCS)
Subject: Economics
Paper: CC-2
(Statistics 1)

Time: 3 Hours Full Marks: 60

[The figures in the right hand margin indicate full marks. Candidates are required to give their

answers in their own words as far as practicable.
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1 Answer any Six (6) questions: 5x6 =230

@ @FI7e 0 AT Teg ws-

(a) Define relative and percentage frequency, frequency density, Class limit and Class

boundary.
Qe sAfae, ot ofaren, e oy, ifd Js ¢ @ifd Jsea /et wre
(b) Construct an appropriate diagram for the following data.
fraffe aifreey e foraa Tgm Sogem <4 |
Principal Exporting Countries of Cotton

(1000 bales) - 1955-56

USA INDIA EGYPT BRAZIL ARGENTINA

6367 2999 1668 670 202

(c) (i) If z = xy, show that GM (z) = GM(x).GM(y) where GM stands for Geometric Mean.

IM z = xy TW O M€ @ GM (2) = GM(x). GM(y) @ GM 25 STATSH ¢ |




(ii) The national income of a country has increased from Rs.12000 crores to Rs. 30000

crores during a period of ten years. Find the rate of growth of income.
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(d) Find the standard deviation from following data:

fsfeiiee Ao awim fpfe fda w=
Class limit
30-39 40-49 50 -59 60 - 69 70 - 79
caifer
Frequency
8 22 32 25 13
RIEE]
(e) Find the values of B;and B, from following data:
fsfefee qifreey (@ B, ¢ B, 99 I+ 41 T4 1
X 21-24 25-28 29-32 33 -36 37 - 40 41 - 44
f 40 90 190 110 50 20

(f) Find wvar (ax + by) and var (ax — by).

var (ax + by) €32 var (ax — by) 93 W+ <7 391




(g) Calculate Paasche’s and Laspeyres’ price index numbers.

Paasche @32 Laspeyre @3 YEPba ol o4

Commodity
1979 1980
&<y
Price (Rs.) Quantity (Kgs) Price (Rs.) Quantity (Kgs)
v (Brel) Afasie (tfer) a (BT<T) sAfaiel (cfer)
A 20 8 40 6
B 50 10 60 5
C 40 15 50 10
D 20 20 20 15

(h) Assuming a four yearly cycle, calculate the trend values from the following data using the
method of moving average.

PR %7 fofes vewe oIe »afe qRaa e fafafie A s aqerst T s

Year
200 | 2001 | 2002 | 2003 | 2004 | 2005 | 2006 | 2007 | 2008 | 2009 | 2010
BTl
Production
89 97 86 95 105 115 112 125 138 146 152
TR
2. Answer any three (3) questions: 10x3 = 30
@ e foait araa Teg whe-

(@) (i) Find the missing frequencies in the following frequency distribution when AM=11.09

M AM=11.09 ©IZ(w fTRfRe afrem FEms sfaeea fada F91



Class

limit 9.3- 9.7 9.8 -10.2 10.3 -10.7 10.8-11.2 11.3 -11.7 | 11.8 -12.2 | 12.3-12. 7 | 12.8 - 13.2
cafer St
Frequency
2 5 9 17 14 A 3
MIEEIS)

(ii) Show that Mean Absolute Deviation is least when it is measured around median.

@8 @ T 7w Rpfs 7Ky 2@ W [Ple T4 (e @em =3

(b) (i) Show that Root Mean Square deviation is least when it is measured around Arithmetic

Mean.

mle @ &1 ¢ fRpfe iy 203 7w f[pfe sifafes o @ @e =2

(ii) For two values a and b (a < b) of a variable , the mean and standard deviation are 25

and 4 respectively. Find a and b.

@fB 51t 9fb W a €2 b (@R a < b), S & qIR &l Rpfe IA@E 25 G 41 a

G2 b 97 T N7 371

(c) Compute Bowley’s and Pearson’s measure of skewness from the following data.

foefafie aifrecarm el wae e NEhre fodeer fada 591

Monthly Income

0-75 75 - 150 150 - 225 225 - 300 300 - 375 375 - 450
T @
Frequency
15 200 250 225 10 5
RIEE)




(d) Find the correlation coefficient and state its significance.

Feraaies T F9 @92 O O @19

Monthly

Income
1000 2000 3000 4000 5000 6000 7000 8000 9000 10000

T =

Proportion of
income spent

onfood | g2 | 075 | 067 | 062 | 051 | 045 | 040 | 036 | 033 | 030
< T <5
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(e) Explain the time reversal and factor reversal test of index numbers and examine whether
Laspeyre’s , Paasche’s, Marshall ~-Edgeworth index number and Fisher’s ideal index number
satisfy these tests.
6T YA I (IO @R T CIearoreae M Wi FF G3R Laspeyre, Paasche,
Marshall-Edgeworth @ 6% 3Rl €3 Fischer G @Ml peoyl € Niwwiel 7ge oo oo
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